User manual
Product Code: A-NUC37-A1B / A-NUC37-M1B

GB

CAUTION

Electrostatic discharge (ESD) can damage system components. If an ESD-controlled workstation is not available, wear an
antistatic wrist strap or touch an earthed surface before handling any PC components.

'WARNING

Please be careful when unpacking and setting up this product as metal edges can cause injury if not handled with care.

FR

ATTENTION

Une décharge élect que (ESD) risque d' les ¢ du systéme. Si vous ne disposez pas d'une station
de travail avec protection contre I'ESD, portez un bracelet antistatique ou touchez une surface reliée a la terre avant de
manipuler les composants de I'ordinateur.

AVERTISSEMENT

Faites attention lors du déballage et de I'installation de ce produit car il comporte des coins métalliques coupants qui risquent
de vous blesser s'ils ne sont pas manipulés avec soin.

D

Vorsicht:

Elektrostatische Entladungen (ESD — Electrostatic discharge) kann Systemkomponenten beschadigen. Sollte ein ESD
geschutzter Arbeitsplatz nicht vorhanden sein, tragen Sie ein antistatisches Armband or beriihren Sie eine geerdete
Oberfldche bevor Sie mit den Arbeiten am Computer beginnen.

Warnung

Seien Sie vorsichtig beim Auspacken und beim Aufbau dieses Produktes. Scharfe Metallkanten kénnten Verletzungen
hervorrufen wenn ohne die nétige Vorsicht vorgegangen wird.

ES

CUIDADO

Descargas electrostaticas (ESD) pueden dafiar los componentes de su sistema. Si no puede disponer de una estacion de
trabajo libre de electrostatica, use una muniequera antiestatica o toque una superficie que haga tierra antes de manipular los
componentes del ordenador.

PELIGRO

Por favor sea cuidadoso cuando desempaquete y ensamble este producto. Los filos de metal pueden causarle cortes o heridas
si no son manipulados adecuadamente.

PT

CUIDADO

Descargas Eletroestaticas (ESD) podem danificar componentes do PC. Caso nao tenha uma bancada especifica disponivel,
utilize uma pulseira anti-estatica ou toque uma superficie aterrada antes de manusear qualquer componente.

ATENCAO

Por favor tenha cuidado ao desembrulhar e montar este produto, as extremidades de metal podem machucar, caso 0 mesmo
n&o seja manuseado com cuidado.

P

EE
BESKE (ESD) REFHR - MBICBBESAZT LM HBDET, ABROMMFEEETSAIC, HITHEIER
%gﬁ’éﬁvz’ KIEEWV, BEIBIESES U EHEIBIEARA STy 72BAL T, GG FEEET> TS W,

SEOB (TvY) BATTAZTBBNDHEDETOT, FARBEMER. £y b7y TTIRICE. <hihbt
HTERLEE W,

CN

it '
# e (ESD) FTRE SRR R GooT i « W48 FMKESD T AFSS - B ARSI T (EYS » S5 T RDH B B BT Al i it = A
0 Eﬁﬁﬂiﬁﬁl%ﬂ&!ﬁ# E

B
FHERZERENBA  BEREEBa&ES -

Contents

®& ©) ®
< &,
R 7
® -
@)
Q &:’/——w
® < @ _

GB

@ Thermal pad @ Thermal gap filler (for PCH) ® Screws for motherboard (M3) @ Washer
® Thermal gap filler (for M.2 SSD) ® Thermal module (for M.2 SSD)

@ 2.5" HDD/SSD screws (M3) ® 2.5" HDD/SSD mounting bracket @ HDD protective film
@0 Power cable @ SATA cable @ VESA mounting screws @ VESA mount bracket

@ VESA mount bracket screws (6#-32) @ Case feet kit

@® microphone array extension cable (Optional)

FR

@ pate thermique @ Pate thermique (pour PCH) ®) vis pour carte mére (M3) @ Rondelle
(® Pate thermique (pour M.2 SSD) ® module thermique (pour M.2 SSD)

@ Vis de disque dur / SSD 2,5" (M3) Support de fixation de disque dur 7 SSD 2,5"

@ Film protecteur de disque dur @ Céable d'alimentation () Céable SATA @ Vis de fixation VESA
@ Montage VESA @ Vis pour Montage VESA (6#-32) @ kit de pied de boitier

(@® cable de rallonge de microphone (En option)

D

(@ Thermal Gap Filler @ Thermaler Liickenfiiller (fiir PCH) @ Schrauben fiir das Motherboard (M3) @ scheiben
® Thermaler Liickenfiiller (fiir M.2 SSD) ® Thermo-Modul (fir M.2 SSD)

@ 2.5" HDD/SSD Schrauben (M3) ® 2,5" HDD/SSD-Befestigungsbiigel @ HDD-Schutzfilm
(0 Netzkabel @ SATA Kabel @ VESA-Montageschrauben @) VESA-Montagehalterung

(@ VESA-Montagehalterung Schrauben (6#-32) @ GehausefiiBe Zubehor

@ Mikrofon-Array-Verlangerungskabel (optional)

PT

@ adesivo térmico @ Pelicula térmica (para PCH) ® parafusos para placa-mae (M3)

@ Arruela ® Pelicula térmica (para M.2 SSD)

® modulo térmico (para M.2 SSD) @ Parafusos para HD e SSD (M3)

suporte de fixacdo para HD e SSD @ pelicula protetora para o HD (0 Cabo de energia
@ Cabo SATA @ parafusos para instalacao no suporte VESA @3 suporte de montagem VESA
@ Parafusos para suporte de montagem VESA (6#-32) @ Kit de fixacdo do gabinete

@ cabo extensor para o microfone (Opcional)

ES

@ relleno térmico para huecos @ Relleno térmico (para PCH)

® tornillos para la placa base (M3)

@ Arandela ® Relleno térmico (para M.2 SSD) ® madulo térmico (para M.2 SSD)

@ tornillos para HDD/SDD de 2,5" (M3) Soporte de montaje para HDD/SDD de 2,5"

@ Pelicula protectora para HDD (0 Cable de corriente @) Cable SATA

@ Tornillos de montaje VESA @ bracket de la montura VESA

tornillos para bracket de la montura VESA (6#-32) @ kit de pies de la carcasa

@ cable alargador para conjunto de micréfono (opcional)

JP

O —NFrvTT745— QY —IWF¥v7TT715— (PCHA)
@XF—R—FARLM3) @Tv¥v— ®Y—<ILFvvTT745—(M2SSD M)
®HY—<ILEY 21—l (M255D A) @ 2.5"HDD/SSD A< (M3)

2.5"HDD/SSD B 7> v b @HDDRET « )V L @ERT—7 DSATAr—7
@ VESARYTARY @VESARD Y TS5y b @WVESAR DY T30y FRXRY (6#-32)
BT —RHFY @A ITLAERT—TIV (AT 3Y)

CN

© B A @ BREFERR PCHA) @ E#HigZ (M3) @ £JH

® SHIEFRHR (M2 SSDA) ® #vésk (M2 SSD fi) @ 2.5" HDD/SDD #242 (M3)
25" HDD/SDD R%% @ BRMAHFKS © BEL%

@ SATA #iiB4% @ VESAR#I2% @ VESA R#EH22 @ VESA REFHLEL (6#-32)
® HIFEHIEDR © 25K E R L GE )

5140189643 V1

Front panel layout

P Microphone array

[T

Hard Drive LED - 1
Power LED  -—-----------

® ®

ML

L @ ®

! I IR receiver opening
: : (For motherboard
] ; with CIR support)

e USB 3.0 port
s HD Audio in/out

Rear panel layout

"--- Kensington lock hole
B LR LR Rear I/0 openning

Internal layout

@ Aluminium heatsink for
heat transfer

® Thermal module mounting
standoffs

® M/B mounting standoffs
® 2.5” HDD / SSD mounting holes
@ Light guide tube

@ Front panel PCB

Internal cable connectors

i

USB 3.0 A male HD Audio in/out Power and HDD led
connector connector connectors

GB

Connect the case internal cable connectors to the corresponding motherboard headers.

NOTE : If the connectors are not apparent on the board consult your motherboard manual. Connecting the
panel to the wrong headers may result in motherboard damage.

FR

Branchez les connecteurs de cable internes du boitier aux embases de carte mére correspondantes.
REMARQUE : Si les connecteurs ne sont pas apparents sur la carte, consultez le manuel de votre carte mere.
Si vous connectez le panneau aux mauvaises embases cela risque d’endommager la carte mere.

D

SchlieBen Sie die Gehéduseinternen Kabel-Anschlusse an die entsprechenden Motherboard-AnschliBe.
HINWEIS: Wenn die Anschlisse auf dem Motherboard nicht ersichtlich sind, schauen Sie bitte in ihren
Motherboard-Handbuch nach. Ein Anschluss des Panels an die falschen AnschltiBe kann dazu fiihren, dass das
Motherboard beschadigt wird.

PT

Conecte os cabos internos do gabinete, nas entradas correspondentes da placa-mae.

NOTA : No caso das entradas ndo estarem marcadas na placa-méae, consulte o manual da mesma. Conectar
os cabos numa entrada errada, pode danificar a placa-mae.

ES

Conecte los conectores de los cables del interior de la carcasa en los correspondientes cabezales de la placa
base.

NOTA: Si los conectores no aparecen en la placa, consulte el manual de la placa base La conexion del panel en
los cabezales equivocados podria dafar la placa base.

JP

CERICARZYY —IR—ROVZ 27N EBRULI—ADR ARV I T—TIL R LRI,

FE BB YT —R—RICERIT VY —IR—RICBEE5Z2B/NAHD XTI, BY. ERICR
BYY—MR—RDOYZ 27 )& HERIIEE L,

CN
AR BRI B S LA v R AR TS RE B iR 7 & o
EE: MBEERERBIENEMEFIESEERNZERRY - NREM RS AR REE R ERIRE

Installation

VESA mounting Instructions

Optional microphone array installation

Microphone array

Power and HDD led connectors

4
=4

M.2 SSD card

2017/03



